Ersatzteilliste Lista parti di ricambio 6720804470
Spare parts list Onderdelenlijst (2024/05) Ri
Liste des piéces de rechange Lista de repuestos

HR 200, HR 300

8738892062.ab.RO

BOSCH




2024/05 2 6720804470




[de] Wichtige Hinweise zur Installation/Montage

Die Installation/Montage muss durch eine fiir die Arbeiten

zugelassene Fachkraft unter Beachtung der geltenden Vorschriften erfolgen.
[en] Important notes on installation/assembly

The installation/assembly must be carried out by a qualified contractor,

following these instructions and in compliance with the applicable regulations.

[fr] Instructions importantes pour I'installation/le montage
Linstallation/le montage doit étre effectué(e) par un spécialiste qualifié
pour les opérations concemées et dans le respect de la présente
notice et des prescriptions applicables.

[bg] BaxkHu yka3aHusi BLB Bpb3ka C UHCTanaumsaTa/MoHTaxa

MHcTanaumsta/MoHTaxbT TpsibBa a ce U3BbpLUBA OT NMULEH3NPaH
3a paboTnTe creumanvcT B CbOTBETCTBYE C HACTOSILLIOTO
PBKOBOACTBO Y C MPUNOXUMUTE pasnopendu.

[cs] Dulezité pokyny k instalaci/montazi

Instalaci/montaz musi pfi dodrzeni pokynti uvedenych v tomto navodu
a platnych predpist provést odborny pracovnik s pfislusnym
opravnénim pro tyto prace.

[da] Vigtige anvisninger til installationen/monteringen
linstallationen/monteringen skal foretages af en godkendt installater
under overholdelse af denne vejledning og de geeldende forskrifter.
[el] ZnpavTikég uTTOdEigEIG VI TNV EyKaTdoTOOT)/CUVapPHOAGYNON
H eykardoTaon/TommoBétnon TipETTel va avaTiBeTal O€ EKTTAIOEUUEVO
VIO TIG OUYKEKPIPEVES EPYOTIES TEXVIKO TIPOCWTTIKG WE TAPNCN QUTWV
TWV 0BNYIWV KABWG KOl TWV GXETIKWY TTPOJIAYPaPUIV.

[es] Indicaciones importantes para instalacion/montaje

La instalacion/el montaje debe realizarla personal especializado que
esté autorizado para realizar estos trabajos y que tenga en cuenta
estas instrucciones y la normativa vigente.

[et] Olulised juhised paigaldamiseks/montaaziks
Paigaldamist/montaaZi tohib Iabi viia vaid selleks volitusi omav
spetsialist, arvestades kehtivaid ndudeid.

[nI-BE] Belangrijke aanwijzingen betreffende de installatie/montage

De installatie/montage moet worden uitgevoerd door een voor de
werkzaamheden geautoriseerde installateur rekening houdend met
deze handleiding en de geldende voorschriften.

[fi] Tarkeita asennus- ja kokoonpano-ohjeita

Naihin t6ihin hyvaksytyn ammattiasentajan pitda suorittaa asennus- ja
kokoonpanoty6t voimassa olevien maaraysten mukaisesti.

[hu] Fontos tudnivalok az installalashoz/szereléshez

Atelepitést/szerelést egy, a munkalatokra felhatalmazott szakembernek
kell végeznie, jelen utasitas és az érvényes elbirasok figyelembevétele
mellett.

[it] Avvertenze importanti per I'installazione/il montaggio

L'installazione/il montaggio deve aver luogo ad opera di una ditta
specializzata ed autorizzata in osservanza di queste istruzioni e delle
direttive vigenti.

[ka] 86033690mm3560 800100170700 0BLESMENNLNZ0L/BMBESg0LM30L
0BLEISE05/8mBESI0 1Bcos 3sBbmMzngameegLs LeB1Bamgdolio3znls osd3gdmmn
339M0xB0E0M0 3gMLmBagmal 3ng, BmJaacen 33BafalinL cosE3non.

[If] Svarbios instaliavimo ir (arba) montavimo nuorodos

Instaliavimo/montavimo darbus, laikydamiesi Sios instrukcijos
reikalavimy ir galiojanciy taisykliy, privalo atlikti Siems darbams jgalioti
specialistai.

[sq] Shénime té réndésishme pér instalimin/montimin

Instalimi/montimi duhet t& béhet nga njé kontraktues i kualifikuar,
duke ndjekur kéto udhézime dhe né pérputhje me rregulloret né fuqi.

[Iv] Svarigi noradijumi par iekartas uzstadiSanu / montazu

Uzstadisanu/montazu javeic atbilstoSajiem darbiem sertificétam
specialistam, ievérojot So instrukciju un spéka esoSos noteikumus.

[nl] Belangrijke aanwijzingen betreffende de installatie/montage

De installatie/montage moet door een erkend installateur volgens de
geldende voorschriften worden uitgevoerd.

[no] Viktig informasjon om installasjon/montering

Installasjonen/monteringen skal giennomfares av autoriserte
installatgrer, og installasjonsanvisningen samt gjeldende forskrifter
skal fglges.

[pl] Wazne wskazowki dotyczace instalacji/montazu
Instalacie/montaz powinien wykonaé specjalista uprawniony do tego
typu prac z uwzglednieniem informacji podanych w niniejszej instrukcji
oraz aktualnie obowigzujgcych przepisow.

[pt] Indicagées importantes relativas a instalagdo/montagem

Ainstalagado/montagem deve ser efectuada por um técnico autorizado
para os trabalhos, respeitando este manual e as prescrigoes validas.

[ro] Indicatii importante privind instalarea/montajul
Instalarea/montajul trebuie realizate de catre un specialist autorizat
pentru lucrarile respective, respectandu-se prezentele instructiuni si
prescriptiile valabile.

[ru] BaxHble yka3aHusi O NOAKITHOYEHUIO/MOHTaXy

IMoakrto4eHne/MoHTaXK A0MKHbI BbINOMHATE TOMbKO CreumanmcTbl,
MMEOLLME [IOMYCK K BbIMOMHEHWMIO Takux paboT, npy cobnogeHnmn
TpebOBaHMIA ITOM UHCTPYKLMN U AENACTBYIOLLIMX HOPM W MpaBun.

[sk] Dolezité pokyny tykajuce sa inStalacie/montaze
Intalaciu/montaz musi vykonat odborny personal, ktory ma
opravnenie pre vykon tychto prac, pri¢om musi dodrziavat’ pokyny
uvedené v tomto navode a platné predpisy.

[sl] Pomembni napotki za namestitev/montazo

Intalacijo/montazo lahko izvede samo pooblascen strokovnjak ob
upostevanju teh navodil in veljavnih predpisov.

[sr] Vazna uputstva za ugradnju i montazu

Owu instalaciju/montaZzu moraju da obave stru¢na lica koja su
ovlas¢ena za obavljanje takvih radova u skladu sa ovim uputstvom i
vazecim propisima.

[sv] Viktiga anvisningar for installation/montering

Installationen/monteringen méste utforas av en behdrig och tekniskt
utbildad person enligt denna anvisning samt gallande foreskrifter.

[tr] Kurulum/Montaj ile ilgili Snemli uyarilar

Kurulum/montaj, bu galismalari yapmasina misaade edilen uzman
kisiler tarafindan igsbu kilavuz ve gegerli ydnetmelikler dikkate alinarak
yapilmaldir.

[uk] BaxknuBi BKasiBKku LLOAO YCTaHOBKU/MOHTaXy
BcTaHOBNEHHS/MOHTaX NOBUHHI BUKOHYBaTW dhaxisLy, LLO AOMNYLLEH
[0 BUKOHAHHS! TakvX po0iT, i3 4OTPUMAHHSIM LET IHCTPYKLUT Ta Ajtoumx
npunucie.

[zh] REFEHWEEIRT
LEANEE TERRRAETIFT T A RSTT,
EIRRETA G BT TIEMAIERER
araaillfcus Al daly claadis [ar]
Al il gl e s e cJanlly 4l 7 seme (anadie 8 (e genill/aS S o o g

35 el 0 3 pga S [fa]
QS 4 55 L yimad 5 el IS (ol ol 4y Slaa 4S (51 46 (538 Jans 5 My 310 s
s alail ada g je ) e 4

[az] Quragdinima

Qurasdirima isinin yerina yetirilmasi salahiyyatli bir mitexassis
terefinden va miivafiq gaydalara uygun olaraq apariimalidir.

2024/05

6720804470




Ersatzteilliste
Spare parts list

Liste des piéces de rechange
Lista parti di ricambio

Onderdelenlijst
Lista de repuestos

8738892061.ad.RO

HR200/300
HR200/300
HR200/300
HR200/300
HR200/300
HR200/300

HR 200, HR 300

2024/05

6720804470




Pos | Bezeichnung Bemerkungen
Description Remarks
Dénomination Remarques
Descrizioni Osservazioni
Benaming Opmerkingen
Descripcién Observaciones

oo
oo
N |
|
I T
1 |Anode D33x480 / M 8x10 8738203 229 ]
1 |Anode D33x700 / M 8x10 8738 203 230 | ]
2 |Dichtring D20 @8,4x2mm 8738203 231 [ N |
3 | Thermometer D63mm 0-120°C 8738 203 232 [ N | FD <11/2018
4 | Dichtring D172 @114x3mm 8738203 233 [ N |
5 |Stellfu M10 X 68 8738 203 234 [ N |
6 |Isolierung HR200 everp 8 735 100 056 | |
6 |[Isolierung HR300 everp 8 735100 057 ]
7 |Handlochdeckel D180 Kpl. everp 8735100 058 [ N |
8 | Schraube M12x25 8.8 A3K everp (8x) 8735 100 059 [ N |
9 |Abdeckung Handloch D180 everp 8 735 100 060 [ N |
10 |Abdeckung oben D610 schwarz everp 8 735 100 061 [ N |
11 | Thermometer D61,8x56,8 0-120°C 7 735 502 380 [ N | FD >12/2018

12 |Kettenanode M8 D33x1000mm uniso everp 8735101 063 [ N |

13 |Isolierung Anode D100x30 grau everp 8735101 068 [ N |

14 | Abdeckkappe D102x9,5 5491307 3 [ N |

HR 200, HR 300

HR200/300
HR200/300
HR200/300
HR200/300
HR200/300
HR200/300

2024/05

6720804470




Ubersetzungsliste
List of translations

Liste des traductions

Traduzione delle descrizioni

Vertalinglijst

Lista de traducciones

Pos | Description Description Descrizione Beschrijving Descripcion
1 Element of construction Groupe d'assemblage Gruppo di montaggio Montage groep Grupo de montaje
1 Anode D33x480 / M 8x10 Anode D33x480 / M 8x10 Anodo D33x480 / M 8x10 Anode D33x480 / M 8x10 Anodo D33x480 / M 8x10
1 Anode D33x700 /M 8x10 Anode D33x700/ M 8x10 Anodo D33x700 / M 8x10 Anode D33x700/ M 8x10 Anodo D33x700 / M 8x10
2 Seal ring D20 @8,4x2mm Joint D20 @8,4x2mm O-ring D20 @8,4x2mm Afdichtingsring D20 @8,4x2mm |Anillo junta D20 @8,4x2mm
3 Thermometer D63mm 0-120°C | Thermometre D63mm 0-120°C |Termometro D63mm 0-120°C | Thermometer D63mm 0-120°C | Termémetro D63mm 0-120°C
4 |Seal ring D172 @114x3mm Joint D172 @114x3mm O-ring D172 @114x3mm gfﬂzr)‘g;‘;’;””g D172 Anillo junta D172 @114x3mm
5 Adjustable foot M10 X 68 Pied M10 X 68 Piedino M10 X 68 Voet M10 X 68 Pata regulable M10 X 68
6 Insulation HR200 Packed Isolation HR200 Isolamento HR200 Isolatie HR200 Aislamiento HR200
6 Insulation HR300 Packed Isolation HR300 Isolamento HR300 Isolatie HR300 Aislamiento HR300
7 Handhole Cover D180 Cpl. Trappe de visite D180 Coperchio d'ispezione D180 Handgatdeksel D180 Tapa de la boca de hombre
Packed D180
8 Screw M12x25 8.8 A3K packed |Vis M12x25 8.8 A3K (8x) Vite M12x25 8.8 A3K (8x) Schroef M12x25 8.8 A3K (8x) |Tornillo M12x25 8.8 A3K (8x)
Cover Access Hole D180 Couvercle trappe de visite Copertura Coperchio . Irecubrimiento a boca de
9 Ipacked D180 d'ispezione D180 Afdekking Handgatdeksel D180 |; 0 - ion D180
10 |Cover Top D610 black packed |Couvercle haut D610 noir Copertura di protezione sopra Afdekking boven D610 zwart Recubrimiento arriba D610
D610 nero negro
1 Thermometer D61,8x56,8 Thermomeétre D61,8x56,8 Termometro D61,8x56,8 Thermometer D61,8x56,8 Termoémetro D61,8x56,8
0-120°C 0-120°C 0-120°C 0-120°C 0-120°C
12 Chain Anode M8 D33x1000mm |Anode a chaine D33x1000mm |Anodi a catena D33x1000mm | Opofferingsanode Cadena de anodos
non insulated pas isolé non isolato D33x1000mm niet geisole D33x1000mm no aislado
13 Insulation Anode D100x30 grey Isolation Anode D100x30 gris Isgl:_amento Anodo D100x30 Isolatie Anode D100x30 grijs Alslamlento Anodo D100x30
everp grigio girar
14  |E cover D102x9,5 Capuchon D102x9,5 Tappo D102x9,5 Kapje D102x9,5 Tapa D102x9,5

2024/05

6720804470




Geratetypen Types de chaudieres Toesteltypes
Types of appliances Tipo apparecchi Tipos de aplicaciones
Gerat Land Bemerkungen
Appliance Country Remarks
Chaudiere Pays Remarques
Apparecchio Paese Osservazioni
Toestel Land Opmerkingen
Aparato Paese Observaciones
HR200 7 748 000 723 ATBE,CZ,DE,FR,LT,LU,NL,RU,SK, TR
HR300 7 748 000 724 AT,BE,CZ,DE,FR,LT,LU,NL,RU,SK, TR

7 6720804470

2024/05



\ Bosch Thermotechnik GmbH
‘ BOS‘ H Junkersstr. 20-24
‘ D-73249 Wernau / Germany

2024/05 8 6720804470




